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α) 

𝑠 =
𝑛𝑠 − 𝑛

𝑛𝑠
 

ή 

𝑠(%) =
𝑛𝑠 − 𝑛

𝑛𝑠
100 

s: Ολίςθηςη 

ns: Σύγχρονεσ ςτροφζσ 

n: Στροφζσ δρομζα 

 

β) Όχι, η ολίςθηςη δεν μπορεί να γίνει μηδζν. 
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α) 

 
β) 

 
 

 
 

 

𝐾 =
𝑊1

𝑊2
⇔ 10 =

𝑊1

125
⇒ 𝑊1 = 10 ∗ 125 = 1250𝜍𝜋𝜀ί𝜌𝜀𝜎 

 

𝐾 =
𝑈1
𝑈2

⇔ 10 =
𝑈1
20

⇒ 𝑈1 = 10 ∗ 20 = 200𝑉 

 

𝐾 =
𝐼2
𝐼1
⇔ 10 =

𝐼2
0,5

⇒ 𝐼2 = 10 ∗ 0,5 = 5𝐴 
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𝑃2 = 𝑈2𝐼2𝜍𝜐𝜈𝜑 = 20 ∗ 5 ∗ 0,8 = 80𝑊 

 

𝑈 = 𝐸𝑎 + 𝑅𝑇𝐼𝑇 ⇒ 𝐼𝑇 =
𝑈 − 𝐸𝑎
𝑅𝑇

=
240 − 200

1
= 40𝐴 

 

 

 𝜂 =
𝑃

𝑃1
𝑃1 ⋍ 𝑈𝑇𝐼𝑇

 ⇒ 𝜂 =
𝑃

𝑈𝑇𝐼𝑇
⇒ 𝑃 = 𝜂𝑈𝑇𝐼𝑇 = 0,8 ∗ 240 ∗ 40 = 7680 

 

 

𝑃 =
𝑇𝑛

9,55
⇔ 7680 =

1910

9,55
𝑇 ⇒ 𝑇 =

9,55 ∗ 7680

1910
= 38,4𝑁𝑚 

 

 

 𝐼𝜀𝜅 =
𝑈

𝑅𝑇 + 𝑅𝜀𝜅
𝛪′𝑇 = 2𝐼𝑇

 ⇒ 

 

2𝐼𝑇 =
𝑈

𝑅𝑇 + 𝑅𝜀𝜅
⇔ 2 ∗ 40 =

240

1 + 𝑅𝜀𝜅
⇒ 80 + 80𝑅𝜀𝜅 = 240 ⇒ 

 

𝑅𝜀𝜅 =
240 − 80

80
= 2𝛺 


